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1. Which of the following groups consist of only Input devmes g
" {A)  Mouse, Keyboard, Printer (B) Mouse, Keyh;gédg.{’loge? :
(Q  Mouse, Keyboard, Scanner 'I(D) Mouse, Keyboard nitor
(£)  Questionnotattempted e, {]
W@anﬁﬁw—mmmwm@wmgv &
SR (a) =4, ﬁa‘rﬁ fsra'

2. MatchList-Twith List-f |
Lis] i o Lk
Lake'" -  Located /Closeto
(a) Ialsamand lake (i) ~ Nagaur
(t) Sambharlake (i)  Barmer
D5 () Didwana lake . (i) Udaipur
2 (d) Pachpadralake (iv) Jaipur

qﬁ-xﬁ‘qﬁ-n%qﬁmﬁm
qEit-11

,cei/(a} @.0)- (w) ©- 0. ._"(u)

the king, his Conquests,

_ Accordmgtﬂ MO.' ! A
5 wars and valour is fmmd alled H———-—* e
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4. Match List-I with List-1IT:

List-1
Paris Olympics 2024 Position
in Medals “ tally
(@ 1
{b) 62“‘1
(C) ard
&y 71t
Hel-1 & ge-1 | gafem wifow
get-1
Rttty
2024 W WZHL W A
(a)
(b)
(©)
(d)

Choose the most appropriate answer from the options given below :

List-1I
Country

India
USA

Pakistan

Japan

A fiu o fawedi 3 | waifire Iugead @ 94T

(&) (a)- (i), (b) - (i), (c) - (i), (d) - (iii)
AGY (a)- (i), (b) - (i), (c) - (iv), (d) - (1)

()  Question notattempted/ 3TAREA ¥¥

B) % (@)- (), (b)- i
(D) A () i), ()

5. Itwas Monday onJan. 1, 2024. What will be the day of
Monda

(A) Tuesday (B)
(D) Sunday (E)
1 SF&Ed, 2024 @ GHER 971 1 9Fad, 2

onno

9 fou o fwedl § @ watfue sugqea Im mwﬁmm
®) (@)-). (b)-(iii), (c)-(ii), (d)-(iv)

(A (a)-(ii), (b)-(i), ()-(i), (d)-(iv)
©  (@)r(i), (b)), (c)-Giv), (d)-(ii)
-y FpERETE
7. ‘v’ # g e b
H
‘o 7

Cogvas

B

(£)

oy~ E,'(ﬁif(ﬁ)a (b)-(iii). (eH(iv). (d)-()

W

$ 1 3

VAT
£

sy v

3

onJan.1,2029?
©

pted
o1 7 92m?

©

©
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10.

1.

12,

_' S Nama the fitst state in India, in which the mod.emlhree tier sy stem anam:hayﬂRa; Admmxstrauon was

141 1 bypric al e lens some tegions of chiromatin are foosely packed and stain light, this region is known as :
(£) " Vuckeromnatin (Hj ~«Nycleosomme (C)  Histone octamer

{17y Hetercehitornatity " _(Juestion not attempted
1%, et e A E % w i (f:;-fw) mﬁ%faa% dr F afvifmasag mmad Ty
X wA

Ay wpETie W © o s
(j  FHvETR ®) A v
Which of the follawing district has h:ghmt pex ratio of Rajasthan according to Census, 20117
{A]  Bikaner (B) Jaipur © Alwar
iy !mn;:,u;:m ()  Question notattempted
011 Y A ST e mﬁnmfﬁﬁmwmﬁ?%?
{A) At B TP © T
-C-
L2/ B A ¥ FEgAfETA
‘1, rn’ 5l wifi g
(A Ay @ frm
My faro @ aﬁﬂﬁam .
Denatured alcohol js :

(A)  formed when alcohol reacts with ox}’g&t

(B)  formed by addition of conc, sulphurk’add to al
(C)  used for the drinking purpose. pres
(1)) the mixing of a dye and methanol tnet
(¥)  Question not attempted
frgin trgyge o 82

(A) 7 AE T ¥ e 3

.l

AW T A g @ W s aeegfie aﬁr{mumm%l
() tfmaﬁmﬁﬂvsm%r
@y shanfres 3yEim FEEEA A 3aaE § () @i Ruata e s g
2, M ¢
Which of the wingié an example of an impact printer ?
(A) Ink " (B) Laser printer
)  Plotters (D) Dot matrix printer

()  Question notattempted
forestfiafrorer 31 41 3 gl i *»m‘em'm%?

hol.

(A)  TwFefder ,gar‘ i i
{{T) unfza ’ (n) iz ffzm firer
‘ ar[rﬂm ue , M,,,i

adopted.

'-.-'(A) Kerala . ; By . Balaslhan o {©  Uttar Pradesh
"(I‘J_} ~ Maharashtra ey SIE(E) an‘suonnotauomph:d

m_-@rnm#jmuwrzmﬁmmﬂwﬁﬂmﬁa?hﬁmﬂmmmmwé?
L dm T e oy T © SHRy
g A () IaRawe

P
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Head the passage and answer the Qne, 14 to 18,

When the seipning world chess champion Ding, Liren and his challenger 1 Gukesh sit down to battle
coveted crown later this year, st will be like two peas in pod, in more ways than one. Fven Ding said that he sces sh
of himmself in the 17-year-old Chennai boy. .

Dutring an interaction with TOL the Chinese Grand Master (GM) said : "Sometimes [ see him as a version of me.
2and we do share some similarities in our playing styles and characters.”

fioth Ding and Gukesh's journcy to the world Ch.impin'n"-hip had surprised the chess world. After the Chinese
qualified for the Candidates following a ban on Russian GM Sergey Karjakin, Ding finished second in the tournament.

fLater, when Magnus Carlsen chose to not defend his world title, Ding got the opportunity to fight for the crown
with Candidates champion lan Nepomniachtchi. Ding shocked Nepo to become the new champion. Gu kesh's route to
the top, too, has also been full of surprises. Despite being written off in the 2024 Candidates, Gukesh, seeded sixth among
cight players, emerging tnumphant on his debut.

That apart, Ding and Gukesh are similar personalities- calm, composed and men of a few wor
moves do all the talking. “He (Gukesh) is not in a hurry while playing, he calmly tries to have everythin
Lhe's a very mature player ever at 17. Also, he had said my game has some inspirations for him, so maybe T hav
influence,” said Ding. o
Ding, who was also astounded by Gukesh's Candidates win, fecls the Indian prodigy can be a ‘difficult player to
handle’. I have beaten Gukesh twice but what sets him apart is he can play many kinds of openings. And he always
wants to surprise you at the openings. So he's a difficult player to handle.”

After becoming the world champion last year, Ding hit a rough patch where
months due to psychological and physical issues. And, when he did play, he had a
five-time world champion Carlsen to make a remark that Ding is "permanently b

“Well, I'm getting repaired,” he quipped.

for the
adows

ds, who let their
g under control.
o had some

ay for almost eight
sults, which led the

14.  When Ding Liren says that he “sees shadows of himself” in th ar old Chennai boy, he means that -

(A)  They resemble each other e N
(B)  They like each other RS 4
l(f) They share similarities in their playing styles and’ |
+(D)  D.Gukesh and Ding Liren are twins -
()  Question notattempted

15, Ding Liren feels the Indian prodigy D.
(A)  helets his move do all the talkipg. e

_AB] hecan play many kinds of i can surprise you at the openings.

() heisnotinahurry whil

(1) heiscalm and compé® anof few words.

(£)  Question :

16, The Game being dif g

(A) Polo 8] Chess (©  Ski-ing
(1) Cricket (E)  Question not attempted
17, Complete the sentence with the mostappropriate option from the ones given below :
A _ . __isayoung person with exceptional qualities or abilities. .
(A)  Prodigy ® (.'_ryptiq;‘f-,_ i /.-K{frl‘syclwlagist
(1) Elegy (E)  Question q;it attempted

18,  According to the passage, Ding Liren journeyed to become the new World Champion :
(A)  When Magnus Carlsen chose to defend his worlil title. &
(8)  When Ding Liren got the opportunity to fight for the Crown with lan Nepomniachtehi and got defeated.
When Ding Liren fought for the Crown with lan Hﬂi‘[){)nmiachtdu and won, : |
- Dy Whenhe qualified for the Candidature defeati r}‘f GM Serpey Karjakin,
(B} Question notattempted (.7

¥y ' : e 5 w5 , : o :b.r.-t_i.'




19.  Choosc the most appropriate word to complete the given sentence :
When are you bringing ____thenextissue of your journal ?

(A) of By up : © out
D) off ()  Question notattempted
20. Match List-I with List-II:
List-1 List-I1
(Type of Coal) (Carbon %)
(a) Peat (i) 94-98
()  Lignite () 27
(c)  Anthracite (iii) 78-86
(d) Bituminous (iv) 28-30
get-1 9 ge-11 & gafea #fme .
-1 gei-11
(=TT & fae ) ( TR = wfavE )
(@ = () 94-98
) feméz () 27
(© TRz (iii) 78-86
@ fafrm (iv) 28-30

Choose the most appropriate answer from the options
) fw T e H @ waiifies SegE I 9T

(A (a)-(iii), (b)- (i), () - (i), (d) - () _ /
©  @-(iv), (b)- (i), () - (ii), (d) - ()
(E)  Question notattempted/

a) - (ii), {b) - (iv), (c) - (i), (d) - (i)
i), (b) - (ii), (c) - (i), (d) - (iv)

21. Match List-I with List-11:

List-1
Country
(@) Bangladesh
(b) Nepal gultrum
© Taka
d) - Rupaya
w-l 1 :
a1 -1
Lt b CUNREN r
(a) i) A L
®) AT Sy e,
© lij) T
d) wEE (v) E.

(_‘_hoos{': thc most appropriate answer fi’um the options givén below *
3 it fgo o fasedl # & waifues suggm W A
ﬁ Ay (@), (b)-(iv). (©)- (i), (d) - (i) ®) D (@)-(iv), (b) - (). (c) - (i), (d) - (i)
©A (a) - (iv), (b) - (iii), () - (ii), (d) - (i) /@)}, {w’ (b)- (i), () - (i), () - (i)
(E) Question not attempted /s;aaﬁﬂ s

%v23 AT .8
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b4

¢ (AY uwh

\\‘ih\mnnn“llm Iulluwln;r, Tiaa waitton the ook 0 1 bert My‘-v'lyh»” ?

(AY Bt Tendalt o (Il? Fapil Uey () Saurabh Ganguly
M Havifhastri () Ouention not athe mpted
P WA Foroeed " fonee ooed wonden ! g v foed) 7
(A ufsi e (y i Ay _ () iy e
AN e (ry  sigefiaurs '
\\'_lu'-‘h of thr fltowing b a phiysical echiange ? b
(A Beapivation () Meltingof wax © (©)  Photosynthesis
(1) Rusting ot iron (1) Question not ﬂtlcrhpwd
frovatiaita o s ant s o afteda 89 =
@A) (1) v fgesn o0 ,,yQ“ YT HYERY]
(1) R s () srfr v
The name of the present (August, 2024) chalrman of 1ISRO (Indian Space Research ()rganisahon) is:
(A) Dy K Radhakaishnan (1) Dr. K. Kasturirangan >
) D K Sivan (1) Question not attempted
A Cvndley atattar avgir ) & adum O, 2024) s
(A) =LA uurgr ) =l & wrEpin
() HA e () g e
The Chatrperson and membor of the Rajasthan Public Scrvlem siof arc appointed by the:

(AY  President

M Governo

{©)  Chairmanof Unfon Public Service Commissio
(1) Chief Ministor

(1) Question notattempted >
T ot Qv s A apm A ag et 3 e g i st 2
.

@ U
@ el e i
) qurih
) st v |
Ina village, tvo conte ta (A and ) are contesting in an election, 70% of the registered voters cast their votes in

the electing and A wing the election by 600 votes 11 A had received 12.5% less votes, A's votes would have boen
eal 1o IS votes, How many whinlt'lml voters are thero in the village ?

g W o Q) Wl (A 3R 1) s e e ad ¥ e el ol 8 R 7oy srammel 3 s mee
FHA A 600 VKA el aan) afk A W) 1258 0 unmnﬁﬁ i A% B B % & @r:«m.mz

fa aites 0 forad ioflg g € 2 ” .

(A) B0 (" 7000 ) 4000

AN S0 (1) Question uumiémpmuamﬂﬂ wy

Chaonse the mostappropriate option to (1 n the blank ;". 2

The salutation ovan atlicial letter shoubd be 0 Rogdsd : Loy _

AAY AT the subject. ) Reforethedate )  Betorethesubscription . -

AT Ay the signature {19 -Qiu_&lim\l}rﬂhtlﬁ_‘llthh’ﬂ :

SN S PTO




28.

Choose the word opposite in meaning to -

8

CONTRITE
'(A( hurtful (B)  concise (©  pelite
' unapologetic ()  Question notattempted
29. Consider the following data:
X 10 20 30 40 50
Frequency (f) | 30 50 90 s 20
frfafan g v faam #1 .
X 10 { 20 | 30 | 40 | 50
AR (f) 30 50 90 » 20
The mean of the above distribution is 29.6. Then what is the missing frequency ?
374 faaro =191 296 ¥, 7@ R (fafdn) aRara F=n 22
A 60 ® 65 70
D) 50 (E)  Question notattem
30. “9El H e, qeral o ad -
/@ FREA B) W © =FTIg=ET
3TEYE F HT ® '
31.  Who has been appointed as the 26th Navy in April-2024?
(A) ManojPandey inesh Kumar Tripathi (O V.R Chaudhari
(D) R.Hari Kumar uestion __nb_tattcmpted
31, 2024 | WRAT 1 A3 (3e7ay) o8 g 2
goy TS qUEg ® fewFER e © dram g
@) ¥ () oHRa v
32. B,P,QR, W are sitting around a circle facing the centre, not necessarily in the same order. S s 27d to
the left of P an. to the right of Q. T is second to the right of R and R is 3™ to the right of P. B is 34 to the right
" of Vand V is not an immediate neighbour of P. Then who is to the immediate left of B ?
B,P,QR,S, T,V W@ W H2 FI § &% U T # 43 §) stavas T8 ¢t 570 4 81 p & 9 W g v w
SERE MM OFWAT N NI WANSTAMRF W AF TR WAR T IF T s P F s sor st s
Rz &1V % %id 90w A\t T W B da € 3 Pmmﬂ\f?ﬁ%rm BFIw A A wm i w7
A S ® T o © P
D) R (E) qustitm’hot nth.-mp!wl / FTAfE W
{
33.  Select the related option which would replace the qumtmn mark (2).
3q waftm fawes w1 =9 %190 99 fo (?) ?mxrﬂm mm%’
ANIMAL : OBNJMB: : GROUND:?
(A) SHPMKL ® SHVIEO A HSPVEP
(D) SHVPOP ()  Question not attempted / 37afa 7e5
Hva
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34. .-\rmng_v ".w following chiet secretary of Rajasthan in the order of their appointment old to recent.
(@)  ShriRajeev Swarup (b)  Smt. UshaSharma
(€)  ShriOm Prakash Meena (d)  Smt Kushal Singh
TSI & e Wi 33 Fegfan F SRR T A T3 w5 f
() T =mEy by e 2w
() &t 3T WET oy (dy S g fiig
Choose the most appropriate answer from the options given below
A faw o et 4 9 watfues sogea 3@
(A) (). (d).(a). (b) B)  (a),(d), (b),(c) © (b)(d).(2).(c)
DY (b)), (d). (a) (E) 'Question not attempted / et w7
35.  Which company got the status of Miniratna category-1in March-2024 ?
(A) C("k.‘ll India Limited (B)  Power Finance Corporation
(© Gaillndia Limited (D)  Grid Controller of India Limited
(E)  Question notattempted
T, 2024 ¥ fFm w0 e’ o1 9 wed & w2
AN w e fefaee B) R FER I
&~ T s fafaze D) TrE FeR it sfea fg
(£) HAawH
36.  Which of the following key do you press to check spelling in M
" UR 7€ § adt wian & fag s fefafas § @ $9 @ 30
GV
or s
37.  Where is the ‘Institute of Leadership Developm
(A)  Mount Abu
(D) Udaipur
T T § iR wiE st
(A) W=
O &I
38. The three medians PASQB, triangle PQR intersect at point G. If the area of triangle PQR is
90 sq. cm. Then t adrilateral AGCQiis :
(A) 30 cm? ® 25cm? © 40em?
o) 20 em? (E) Question not attempted
fa3a POR 3 A mfrnd PA, QB, RC fag G wt#ra €13 ffst POR #1 8%6 90 cm? W1 wfsfia AGCQ
(A) 0 FW By T 258 © 4o ¥mR
™ 20 E20e1 M (F) ¢ ﬂ]ﬂﬁﬁm
19,  QandRaresiblings I’ has two children and he is son of E and E is father-in-law of H. H has only one son. R is not

granddauphter of £ Thenhow is Q related to E2

(A)  Grand Daughter B)  Son (OO  Niece

() Daughter () L(;)':.msthm not attempted

ot rwm s aam tirF At st ar s W B, H® wgl §, HE $a 0E YA 8 E W 9 R
TTITWQ MERF da §? L

(A) GRit (8) Ay v

-
-

e
o ™ B sEaTA

 ¥v2 o 9 SRR PTO.
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40.

‘1!

42,

Which diseaso is caused due to trisomy of 21% chromosome in humans ?
(A)  Phenylhetonuria (B)  DownSyndrome
(©  PatauSyndrome (D) Klinefelter’s Syndrome

(£)  Questionnot attempted

v im0 qmﬁm‘ifuqmqam mwmt?

(A)  TIERE @) o

Q7 e e, ) e fagm
T @ s (A

Himalayan Yew tree (Taxus wallichiand) is found in which States of India ?
(A)  Himachal Pradesh and Kashmir

(B)  Sikkimand Uttarakhand :

(©  Himachal Pradesh and Arunachal i’mdesh

(D) Sikkim and Himachal Pradesh

()  Question notattempted

fenerdt g 9w (2w aifafagrn s & et o o s 82

AN fearra wia s @

®) fofewm s soows

© ferea v iR s w2y

() fafern st feqras w3w

)  safE g ()

Select the most appropriate statement for the appoin tof a Chairperson of the State Human Rights Commission.
He/She has beena:

(A)  Chief Justice ora Judge of High Court

(B) Social worker

(©)  Speaker of the Legislative
(D)  District Judge

(E) Question not attempted {
g VERR SE & -;,." 3 I9FF FYA I GEAH BN AT TRV T B -

-4 I [T F T R

@®) wETAAAE
© fon
(D) e
(E)
The largest river in the peninsular region is :
(A)  Godavari ()  Krishna © Narmada
() Mahanadi (I'] Question not attempted :
- wrdd e/ w wa af d
AR heat, (B)t 3o © i
Ly  weeed L@_f sfaftaye
Carbonis: E o )
(A) Divalent ('B; o Trivalent ' {©)  Tetravakent
() . Monovalent ’j[')! Quiestion not attempted
wn ¥ - Xk | _
;((r fg sidvam ¢ A ®) s QY
(n) %‘Wf _ ®) st ' '



A% .'-\:\éh“\mlh 3R te Fast, then tums North-West and walks 4 km. Then he turns South and walks
B Rt Then again he turns West and walks Yhin Fittallv he tar ‘ . vhi irection, 1
. i ¥ he turns Nortl alks 7 hic n, is he
fecsi s sherting: ok North and walks 7 km. In which directio

() Norh M South € West
(M NaoathWoest (A st
(i Question notaticmpted

a9 a3 ) s R e S o W o g fed wam @1 fa e af SR TR
o Fedt wem 1 et e e wivem R W el 3 fed owem 4 sfn X T IE w1 ST GEET
7 Rl v R4 wmey s aw aned wfe fig @ o few R R

AN SR (L) A (© wivam
(1wt uiay ®  areRa v
i The Ur_\_ih\l State of Greater Rajasthan was formally inaugurated on 30% March, 1949by -
(a'_\] Khan Abdul Gattar Khan B)  Mahatma Gandhi
{3 Hiralal Shastn (D) Sardar Vallabhabhai Patel

() Question not attempted
20 s 1049, ) YR VS WS ( United State of Greater Rajasthan ) 1 3igaifi® foar g e e 2

(A) W IR NS ®) e T
0 duans s DX TR TEETWNTE T

DI S IR S

47, Select the most appropriate statement about blood platelets (Th
{a)  They have no nuclei. '
{1 They are very small fragments of cells.
(&) They contain red coloured pigment called hemog
()  They participate in clotting of blood.
(@) They produce antibodies to fight anti

Choose the most appropriate answer frofn th low :
(A)  {a), (b)and (d) only , (¢) and (d) only
a), (b) and (c) only

{© (). () (D) and () only
{)  Question notattempted

) & e /. N
© v e S e Qran &, ford deincifa w1
@ A F U
) & wfira (Ut A T & fa vwad S F@ 8
?ﬁ&ﬁqmﬁm“fﬁﬁmﬁimmwﬁ:
Ay ga), (b) AR () ®) ¥ (b), () 3 (d)
ey ), (o). () 3 () ©) A ), 1) 3 ©)
T Ram garh vishdhari Wildlife Sanctuary is situated in which of the following place of Rajasthan ?
(A} Dharatpur (B) " Bundi R i
e ([?J} 4 Chivrg Rt (o Questionm’tt**tlgft_np_tml : :
S faed e A SR QT i fmferfn 1 @ fm e 3 fer €2 :
W v ol T e TR

. P :




49.

51.

52,

53.

Rusting of iron takes place:

(A)  Inpresence of water only (B)  Inpresence of bothair and water

(© Inabsenceofairand water (D)  Inpresence of air only

) Question not attempted -

(A) e el @ ufeefa o mewmﬁmu
(© T au oE ) stafefa § (D) e e # ufeafa A

(£) ITaRa W
In the context of Indian Constitution which of the following is not a fundamental duty ?
(A) Tosafeguard public property A
(B)  Torespect the National Anthem
()  Torespect the elders

(2 To protectand improve the natural environment
(E)  Question notattempted

WA dfaum & erger freafafaa o § 9w Hifas e 7@ 82
(A) wrEwtEE dufa w1 gren H
®) UE FHHHA FEAL
I o T HET .
(D) Wihfas TaTeRer Fi & S PUR FE L

Which fundamental right cannot be suspend

(A) Rightto assembling peacefu 7 By

73

uring an emergency ?
t to freedom to reside anywhere
Right to Life and Personal Liberty

(©) Rightto freedom of Religi
(E)  Question not attempted

SEETA & LA ot i H Gifer ﬁaﬁaaﬁmmm%?
(3 vifget e B i ®) o T AR
© i T o et sl fTa T TR

Which of tiHé follo

ng is India’s first interplanetary mission ? b

(A} Mangalpaa (B)  Astrosat (©) RISAT-1 '
() Chandrayaan -1 (F)  Question notattempted :
g  § A % R 0 e sk (geyered) e &2 ,

(a) HATEEE ) TEIIE (Astrosat) © RISAT-1
) FEAA -1 ® iy o

In which state did the Supreme Court recently (ert'l to halt itlegal mining in the Aravali mnge g
(a) Haryana (8)  Kajasthan e () t..u;.\mt

() Punjab () @ucgtkm notattempted

WW* i wf?ﬂfﬁr‘t mwmgmﬂ g e a:réﬁ#mmmmﬁm m&m:




54, Choose the most appropriate option to fill in the blank

Would you like to hear -

Seotsman? s e SHOTY about . il Eﬂgiishman, o Irishiman and. ;o e
<IAY” a,an an, a

' Ty (B)  x an, the, the )

y thi i 2 ; . e (C) a, the, the, the
) WrABy A1) Al (E)  Question not attempted

55, Which salt does not contain water of crystallisation ?

A Bak g 3

:;); li:u ":;g-:;t-,dq ) Washing Soda ©  Gypsum
_ ‘- itriol ()  Question notattempted

frefefen | 4 frm oo § fresfan @@ sa 78 dag 2
(A) M HHE B) Y w © from

Py e e ®) sﬂaﬁam

56. In24days A cando75% of ajob. Bcan do — of thejobin 24 days. In how many days can they do '1' of the job while

working together ?
{A) 6days ®)  8days
(D) Sdays (B)  Question notattempted
A 24 Tt H 75% w1 FX qE@ 81 BHE % am 24 foi &
farer foii 40 FX AEQ & A |
Ay 6 fE © 10f
Dy 5 feat (E)
57.  Which area of Rajasthan is a part of ‘Arid

(A) Hanumangarh
{Cy Barmer
(£)  Questionnot attempted
ST T A A Y

T
() srEEfEyE

' 55 Choose the word nearest In meanihg to the underlined word,
. He mod to alleviate the suffering of his neighbours.
MATT distribute (B) remove © aggravate
; (D) abate (£) Questionnot attempted '
59, Which of the following is the electronic brain of the C unfputer ?
LAy Memory ' B Cru (Central Proc essing Uut)
Gy Control Unit Ve Ty (D) AL U(Anlhmrtu Logic Unit)

B Qﬂﬂﬁﬁmmpmuvmplm -

' -;fﬂrafﬂfmﬂnahwmamzﬁmnfmga N "* |
S i : @ W ﬁ'ltw e drifi i)
; {f'} vr-;}'f?ﬁ 111'32 i M"’"u m'-rqf m}ﬁfgq;gﬁm i)




€. InAlDS_ B8 is primarily affected.

(A} ImmuneSystem (8} Neryous System £ EnpeihveSovienr
(D) Circulatory System (£} QWMMW
AIDS ¥, __mmEEyEm T
(A) FEE i . < w=E
@ HRETAT ® A
61. Choose the most appropriate option to fill in the blank -
I've got friends so I'm not lonely, but of them never vt e
(A) many,afew AB) some,fewer O oo some
1 ey (B Questionnotattempied

62. Choose the most appropriate reported form of the sentence given:
“Where will you be tomorrow”, I said “in case I have to mest you?™
(A) Ilasked where he would be the next day in case  had to mest bam.
(B) Isaid to him where he will be next day in case Lhave to meet hz
Q Iaquuedabouthswlmmboutsﬂ:enexz'da}'inmelu mestp.
®m7 Iaskedwhmyouwiﬂbewdda;mmse[wﬁme*}m
() Question notattempted )

63. Whatis the “RAM” stands for:
(A) Random Access Memory
(O Read Anonymous Memory

“RAM” &1 JiET #31 ¢ ?
© e st FEl ((3) ﬁzwﬁ‘-ﬁ?ﬁ

® Sy
64. Whichof the fo ptical storage device ?
(A) (B) PunchCard Q Soon-Disk
D) () Questonnotattempied
fr=fafaa i T == oA 2 )
& = ® vIEE Q ===
o) wE e B SRS ;
65. msumofrax!wsmdhe:ghwfasohdq,lmdwns'ﬁmmmwﬁnlmhmamushwm h&am%tﬁmﬁ
of Cylinder?
Ay 4312 omn? | B) -L.ﬁcm‘ . £ ot
| ) 4100 cm® {E} Question not attempiad ;
qmawfnﬁma‘dzémqai*aﬁwm%w%ﬁmﬁwmg%%g WWW'
Fm &7 |
Bl a2 o -i"?'" 213 W O ans
f- Sy pa B B TR
.




L Which af the following is the moat essential for germination of seeds 7

(A)  Light M) Pertilizer (©)  Hightemperature
(I.U) Wister () Question notattemplod
il A e sbfren W o apdy sifven s § 7
(A) T m) © B

e () smpafer we

g7, Which of the following organization 1s on the highest level in order of Panchayati Raj system in Rajasthan ?

(A)y  Zila Parishad . (B) Panchayat Samiti (C)  Gram Panchayat
(1) Kendriya Panchayat () Question not attempted

vt el 3w an dares asar daed et & g aan 5 waow 2

()/ fren afar (1) v afafa ©

) R T (F)  sryafa e

68,  Which of the following formula depicts monosomy ?
frferfera wpit # 9 w9 v <ato & 2

(A) 2n+3 ,;-115/2“—1 © 2n-3

D) 2n+l (E)  Questionn pte e

69.  Which of the following place of Rajaéﬂ}":lé is 1eduled desert areas of India ?

(A)  Jaisalmer 40 (O Udaipur
(D)  Jodhpur o (E not attempted

Trarear w1 e A B wE T WErE Al 1§ 2

(A) e kikie! o~ AR

(M) SR SR T

' 70 Which of the followinglis anpaque object? |
I (A)  Water (B)  Kerosene © Wood
- M)  Glass (E)  Question notattempted ;
P 7 o o s vl e B ?‘i‘"_’jfslf’*
LAy T T
®) () S s

L Choose the most appropriate Hindi wnrd for the given word :
. DEPERRED P
C Ay swafaywen

S et don
ﬂ-’} __ 'qﬁ fepy N o AB) -C}ui:.stlu'nnul'a_ltmnpted
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72, Match List-I with List-11.

List-1 List-l
Indian Player Sport Associated With
(@  Manu Bhaker ()  Cricket
(b).  Mithali Raj {i)  Shooting
(¢ PVSindhu (i)  Boxing
{d).. MaryKom (iv) Badminton
'j'@‘H Frget-1  gaiea wifag ;
pI 11
o v e WEAHEG
@, T Mﬁ fere
© o i) Fromest

@ & M) LiEE TR
@ WS v) A
Choose the most appropriate answer from the options given below :
F2 e e fawedl § | waifus soga sw g
(A (2)- (i), (b) - (), () - (i), (d) - (iv) (B)
©  @-@) ®)-Gv) (©) - G), (d)- (i)
(E)  Question notattempted/ HIRA ¥

73. '_'S}um]a is cooler than only Manali. Nainital is colder tha
‘than Shimla but not the coldest. Which among the t' o)

(a) - (i), (b) - ).
D) (@) (i), )- G

(A)" Mussoorie © Shimla
D), Nainital tattempted
formen Fae 7 R ISR q@ﬁww#ﬁﬁlmm Fassatwss

Q ==
74. o1
(B) Kalyan Sona (Q Sonara
()  Question notattempted
© ) AT
75. {’unnamadn kayal lake is situated in w hich state of India?
LAY Gujarat () Kerala Q0 WestBengal
IDJ Rajasthan () Questionnotattempted '
Wmsﬁam#mmﬁﬁm%?
Ay T AT | Q srmd
D)y UFEEA )  wEaEye
v6. et v H oy Hu-Y w wd e E- o
@A) TR B T RN QO SERERER.
e it © s T
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-

Aman starts a business with Rs ‘M and 2
also joins them with 'r{u “:'l:;i\;! i -t.‘..nd & l_““mhs later Chirag joins him with Rs “M/2". 1 month later Praveen
MY The ditference between the profit received by Aman and Chirag at the end of one

yoar is Rs. 9100 What is the dif ‘
& (8 - it AP L] A % ™ 3 i 1 :
tterenve between the profit received by Praveen and Chiray, ?

(\) Rs 28600 {B) R« 38,600 :

i () Rs. 40,000
( g s. 28, (F)  Question not attempted

FEAAE S firg

M R TH HRISR TR e 3l 2 TR ¥ s feam 3o T E M /2 B e € o v

s:a’zvnﬁ.ﬁ IR T W i @ O o ) wEhw o st fae @ wm e A E 0100/ AT @
weitor e ferem g ww e ¥ e st T aa ) 5 '

(A) T 28,600 /(By"" T. 38,600° (© % 40,000

(D) ¥ 28,000 () IEiEwe-

Given below are two statements :

S-tatemcnt UE Balathal is an important archaeological chalcolithic site in Rajasthan.

Statement (1) : It was excavated by V.N. Misra. Its contact with the Harappan Civilization is attested from the
house construction.

In the light of the above statements, choose the most appropriate answer from the optig given below.
(A) BothStatement (I) and Statement (II) are false.
(B) Statement(I) is true but Statement (1) is false.
{O Statement (I) is false but Statement (1) is true.
(D)  BothStatement (I) and Statement (I1) are true.

®) Question notattempted : ‘
3w Ry E -
TR : Y T T HEa e [
e et & s § et e
() e () SR () T A E

Ty (1) TR &, fHg 9 (1) 3
Q mﬂ)mtmm j
RT e (1) i ) T
(F) SFfuia ¥

Which of the followiffg

& 37 e Fmior § yaifor € ¥
IWA

amental duty is added by the 86t Constitution Amendment Actin Article 51A of the

79. i
Indian Constitution for int or a guardian? B
' { protect the sovereignty, unity and integrity of India. '
?;)) E‘g :f;?iﬁl::;:pi;mnities for education to his ward or child between the age of six and fourteen years.
Safeguard public property and to abjure violence. ;
i{?} To :;get'en:j fhe country and render national service_ when called upon to doso.
() Questionnotattempted _ : e
s T Hin ST 5 wrdta gfaur & a;g@;:smﬁﬁmﬁ#mﬁﬁaﬂwmﬁfﬁmmmmﬁm
sworn sTfnae  fe g T E? . s
(A) maﬂéﬁgm,mmmu’maﬁmm@tmﬁmml
ﬁr”aw%ﬁrfeiam a v & ey a4 A mﬁauﬁmﬁr&n#m W& HTAT
0 b et w1 FO won o e A TN
) ﬁ%tmm,mq@mmﬂﬁmwmml
i REC i . et




KO- Which peagraphical region of Rajasthan does not share their boundary with Haryana state?

(A} Aravall reglon (H)  South Bastern Plateau regjon
() Semiand reglon ) [ifuf{rm_l’!ainm?,km

By Question not attempled
Fresfetia i & v 0y w2 stifer A o 1 o ek e 1o A %7

(A sred) A By xfam gt v i
©  andyer i //:’ﬂ Bt 471
) sqeferum Ad 4
81, Tt if wompes g 8- £y
AN ® %h © =
®) ® FfmrA
82, Whichof the following is not a type of spreadsheet program ?
(AY  Microsoft Excel (B)  Googlesheets Pose symphony
(D) ZohoSheet (E)  Question not attem '
fwﬂﬁmﬁ;ﬁﬁqmﬁuﬁzmmmaﬂh
(A wEEHE vEa (B) o TR e

83.  “The Amphibians of the Plant Kingdom' are :
(A)  Bryophytes

(© Gymnosperms
(D)  Thallophytes

"qram wa w1 uEERifaa’ (
(A) AR O fEeE=
(0)  FeiRE
B4. Choose the word m
ZEAL
Ay f By reluctant © liberal

D) a
85,  Which of the following is not a function of the control unit ?
(A) Interprets Instruction e
(B)  DirectOperation e d o
(©)  Guides data flow through the computer memory ~~
(D)  Controls Sequential Instruction Execution )

(E)  Question notattempted

(B). . Question notattempied o
’:‘ﬁfi‘ﬂf{ﬂﬁﬁmmﬁmzﬁﬂmmqﬁg?
(A) | SeTRE v SR
(B R ST

(©  TEES T R g % ceR Rl
o) el IR Jreavm uaiaes
® TR A




35; mwmmdmmr%!k&cmmwﬁ -

(&) Feand Mo B MO aniFe O NOad Mo
D MoandFe & QuesHon not smme—pid
wmaFaimde s Shadser .
@) Fe Mo ® MoOITHFe & NOFIMo
) Mo Fe B IFHIFE
57. mm'ummsmmmu“mm?
{A) Narmada & Godavar &) Krshna
Oy Tapi ® Questonnotattesipted
TFRER S w e \d
M = & o= R
: B FFEase
$§8. A shopkeeper marked a product. 60% above the cost price and sold the prodact 400 after grving thO
successive discounts of 10% sach. Find the cost price of the product.
{A) Rs 23000 ® Rs 2500 30,000
(D) Rs. 20000 ® Qusstonnot
EIETRA I TR W EHE TS 0% F9F e i R 10% T T 92 3K 58 R

Fa 4w ¥ e e sReE R I wE R
51 © ¥ 300m0

O (s YE) w0 T R e b
W sEER (v) R e ¥ R

Choose the most appropriate answer from ﬂwopm:s given below:
3 g e fet 2 3 waitum wogE Iw AP

,,{ﬁf (a3~ (), () - (e {0} - () £d) - (V) ® (i? - i), (B - {1 4¢) - (v (<} - (i)
Y @-n - -Gy © 0 -G ) (). - 01 () )

{E‘) Mmmﬂammf“ﬂdfmm




90.

g1.

92.

93

freforfas § sy fofea o 2-

(A) 74 a% I T S E () ﬁmtmmfﬂ:ﬁ"!ﬂ?l
;;g{mnm%nfﬁmrfﬁaﬁfam (D) HIE Terd-"Ed 37 T
® SFERaw

‘ - ¢ known facts, Read th
Given two statements to be true, even if khey stem to be at variance from mnu‘nnn];,hkno::t;\ fac cad the
f g Atz . Ll -
conclusions and decide which of the given conclusions logically true from the given statem

Statement  :Some hands are eyes. No eye is lef Alllegs are hairs.
Conclusions:

) No hand is a lmir
(i) Someeyesare hairs.

In the light of the above statements, choose thn. most appropriate answer from the options given bc!m\
{A) Ifonly (1) conclusion follows

(B)  If both (1) and (I1) conclusion follow P
(© M neither (I) nor (I1) conclusion follows

(D)  Ifonly (I) conclusion follows

(E)  Question notattempted

S T TR W e < e X T R, Tty s e 9 a | i Fremal w7 3ngga = ol
fvia < & fau g el o o @ freed qegl 31 ;
WU FT Y AW ¥ 19 3w WA Ead

fread

O TE Y, T T e
an FoAGEaEEl
IUdE FYAl & S | (tatad o
(a) 3% Fae () Frewd =@

®) FRWAOTEMF

Identify
(A) He
(B) Heh

()  Hehalived in London for two years when I visited him.

_(/CD;—» He lived in London for two years when I visited him.

(¥)  Questionnotattempted

How many squares are there in the folowing pmhlm ?

mmmmﬁwwﬁ

L W
M

i'j"

@ s Wl o RS b
(£)  Question notattempted/ Siaf vy
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g4. - Which movie won the best feature film award at the 9th N
- {A) Gangubai Kathiawadi (B) RRR
(O  Sarpatta Parambarai (D) Rocketry : The Nambi Effect
()  Question notattempted

mzmmoeﬁﬂd%mﬁamﬁmm&fﬁﬁmhﬁﬁéfmﬁﬁaw

ational Film Awards in 2023 ?

A5 TR B ST S, SR,
i) TR O) TFE: 7 Al THE
) SR
95.  Which institution released the environmental gu:dehnes fur stone crushing units ?
(A)  NITI Aayog
(B)  NGT (National Green Tribunal)
(©  CPCB (Central Pollution Control Board)
(D) NAEB
()  Question not attempted
TR IS & H Harl 3T qaM & fag aaake da v fea e fka
(a) ifa smm
T 9 e (Tsd.)
R A, (i g Fr Ar)
(0) TATEHEL
® A
96.  Which of the following area of Rajasthan is/ ar
(@) Churu (b) Jaisalmer ¢
Choose the most appropriate answer f]
(A) (b)and(c)only ®  (a)and (o) only
(@  (a), ()and (c)only (D)  (a),(c)and (d)only
(E) Questionnot
TIH F A EE it 7T | 9 @ e e R 2
@ T S € SHE (d) IR
g few o famedt A 9 waifus SUgE W I ‘
e (b) ST () ¢ (B) ¥ () W (o)
aﬂﬁq Fae (a), (b) (<) o W.'.‘.?’a (_c)amd)
| (E} W L e
?I Se » Centre (NRb(:) is located at ? ] - A
;:;uon;lrl:;?;} :: e (B) }!vdemb:td p {) Snharikota

(M  Ahmedabad (E) Qucstxonnntammptm!

” X t? .i:’k.; ‘. .
- e g w4 (VA AR O E) wel fen . | 5
(A s @ e AT seRwE

; (D) e 5y m e

e B e 21




S, L i

98.  The total number of 3 different colored pens ina hox i T02. Ti the ratio betweer, Tl cotomrett antl Bk oL,
is 5: 3 and the number of black pens is &‘4 }- % of green pens, then fmd the difference hetween Heaelotinretay
black colored pens ?

o ates § i fehm m%ﬁﬁiﬁ{gﬁmumtmﬁw-’nw 7 T R W S S R

hkﬂﬁ@ﬁhmﬂﬁmamgmgﬁmmam# CEUE st s

EIRE T
<A77 12 ® 1 L Q =
O 10 ® mwmm
N, TR TH TWIEE F e e | I W
(A) oW - ST ®) - um ﬁ"m-—m
0) T -3 ® SOEEvS

100. savEE ¥ WgE WU B
(A) SEIEINE

L) TP

101. Which is the main organization for the Develop i Infustrial Torescm Ramsthar
(A) RICO 3
(O  District Industries Centre Rajasthan Finance Corpomation

(E) Questionnot atbemptad

®) ::gﬁﬂaﬁ (RAKICO)

). . M Poglh o
@ T 3
ay T LR N R
o) weEiEn ® W e

104, Choose the most appropriate passive farmafthe swntc,m fTiven
o one can do anything about thecase UnleRs SOMESIRE e w e ik rmation
‘_jﬁd”’ Nothing can be done «ahout the case, unlew w:m‘gww; it mtarnuto,
{B)  Someong has to give moremformation o os m.gg;‘m“.mn}}
()  Todoanythingmore information B requited
(D)  Liniesssomeons givosus FgsTe INFOTMAtInE WOCETIA! doanyimg
) Questonm attenipted




08, WhichBtate s NOT a part of the ‘Dethi-Mumb
{\)  Maharashtra

aiIndustrial Corridor Project’ ?
(B)  Punjab

£ jasthan
@) Gujarat | (©) Rajas
(F)  Question not attem pted

fmﬁ‘ﬁmhmm‘fwﬂ-guwamﬁmvﬁmmm'mmaﬁw
(A) WEUY By~ Yum : © T
© T ® sgrawE

106.  Choose the most appropriate option to fill in the blank :

He abdicated the throne = _his eldest son.

(A)  inlicwof (B) by wayof ke (© infavourof i
/[D}f’ against (E)  Question notattempted
107,  Who was the founder of the Chauhan dynasty of Ranthambhor ?
(A)  Vigrah Raj (8)  Durlabh Raj jay Raj
D) Govind Raj (E) Question not atte

iR % HigE A9 R FE 92
(a) fame B) IEAWTS faeg 7=
oy R T ®)
108, Fr=fafea R Iwal 3w W TE - &
A BREL G : © foEm

I ¥

as ‘@59¢" and ‘KITE' is coded as ‘$9%!". How will ‘PINK’ be coded in the

’a?r'ﬁ’ﬂiﬂ

109, In a certain language
. samecode?

fei ww B SNIP @ 9#*ﬁafrz'xm?ﬁ'sg%!'ﬂaﬁzmzﬂmtl'aamﬁ'm:\'}:‘afr%«'ﬁm"mﬁm.

 amgm?
e () Questionnot attempted/ srqafa v e

-“0. in which month is the festival of Kajali Teej celebrated in Bundl‘?{
(A} Shravana @®) Bhadrapad 7 {Q Phalgun

) Chaitra () Question uulnthempted

xmﬁammﬁamwﬁm f‘wmzﬁmmmt? | _
W SR e 6, YR
i e | @ SR e
L e o=

f




S ke

11t

112

113.

e

Match List-1with List-I1:
List-1 List-11
Boli/dialect Spoken mainly in Region/ Areas
Associatedwith
{a) Hadot ()  Jodhpur, Jaisalmer -
(&) Brij Bhasha (i)  Sikar, Jhunjunu Y
(&) Marnwadi (i)  Bharatpur, Karauli . .:’ 3
Shekhawati (iv) Jhalawad, Baran -
qs-ﬂ-l B qsfr-ll | i T
-1
g@mﬁﬁﬂﬁ/@ﬁﬁmwm
(@) YR, FHEHT
®) IR, gqL
{© AR, Hle

3 fru o fawedi § R/ mfﬁm ITGE IH qﬁq
A (@-). () (iv), () - (i), (d) - (i) ®)
@  (a)- (i), (b)- (i), () - () (d)-()  AD)
(E)  Question notattempted / K G RIIGREE]

Match List-1 with List-I1.
List-I (Fair)

(a) Karni Mata

(p)  ShriMahavirJi

(0  Kapil Muni

(d) Kalyanji

-1 w1 mep N

{a)

{b)

(©)

(@ FE

Choose the most appropriate answer from the aptmns gwen below -
3 fry 7y faedl @ waifues sogE IW g

Ay (a)-(iv), (b)- (i), () - (i), () - (ii}) B (a) {iu) ©)- (), (©)- (i), ) - (i
© (@)~ (i), (b)- (). () - (), (d) - (iF) ®) (a) (h) (1) (0. (<)~ (i, (d)’é:)
®) Quesuonnotanempud/ﬂﬁﬂﬁm

‘Pichhvai Painting’ is associated with which school nf Art ?

A) Kota (B) Kishangarh 5 :
(&) Bundi (E) Queqnonnotaltemmw (©) Nathdwara .
ferepard e’ Fw @ faaea § Hafya &7 .

: e i ® fewmng Sk

) GG () YA 'f"’_lﬂ_




114. Selectthe incorrectly matched pair of plantand its economically important part :

(A) Afhmjn sa'titrul'rn -Stem (B)  Rauwolfia serpentina - Root
(O Terminalia arjuna- Flower (O)  Curcumalonga - Stem

(E) Questionnolattempted
ﬁﬁ%ﬁﬁan%mﬁmmﬁmmmmaﬁmmnwﬁwmm”ﬁ

(A) WW el By w@f gt - o
€) TTaRaTE '

115. ‘The Valley of Flowers’ is situated in which regmn of India ?
(A)  Uttarakhand Himalayas
(B)  The Arunachal Himalayas y
(©)  The Eastern Hills and Mountains of Hm'lalayas
(D)  The Darjiling and Sikkim Himalayas
(E)  Question not attempted

el S R & T o R €2

I};{ SHUEs fedrer

B IrevmEe fede™

oy femem &t gEt geifeal siv vda
D) fsifem oir faferm femaa
() a3

116. Which Article of the Indian Constitution prov1des fora(

(A)  Article 155
(D) Article153

rnok.in each State ?
(©  Article159

Wi S R SR 5 e 7 P W &2
(A) STB155 B © FHET19
oy =T 153
117. Nanda Devi Biosphere rese _
(A) Uttarakhan. (B)  Sikkim © Assam
(D) WestBengal (E) Questionnotattempted
(A) TAUEE ®) fafem 9/ e

(D) wfyEm EmE () Iaawd

118. What s the shortcut key for the central alignment of a line or text in MS office software ?

@szﬁw&mﬂmﬁmm%mﬁ:ﬁnﬂm%mmﬂw%a

L Cul+E B) Ctrl+X (@ Cul+Al+S
(D) Cul+W ()  Question not attempted / 5177w o

| 119. Choose the most appropriate English tramlah‘pn}:f the given sentence,

e T fan

(A) He has not deceive you, [B} ¢ You have not been deceived.

| (©) Youarebeing deceived by him. _,(D}-' He did not duu:n ve you.

" tion not attempted

- (E) .Ques on . |

l e §v23 - _ ; 25




| 2 c:)seczzﬂ ?
120, lf 21:0526 -+ asmﬁ =3, w here(° <9 < 90 then what is the valut‘ af 55in"20 +C0S 3:7 ?FIT r
g 2c0528 +"19m0 =3 I 0° < 0 <90° 'ET 9 55in220 + c0s20 + cosoc220 &1 HA

35 4 I '32
(A) "= . e £2 ( '3
ol b _ ' ’}_4 _ e S R :
'ﬁ.)) 15 K} ‘Question not attempted/ aa'ﬂﬁﬁm : . :
R mg.
B VT - S ® - i ©
Ay Ty ® e £
‘122. Wherelsthe natural gas based Ramgarh Power Plant located ? -
(A)  Bikaner (B)  Udaipur (O Bhilwara
(D) Jaisalmer (E)  Question notattempted
Sn?ﬁmi‘m amfg mmmwﬁ R fem §?
/ﬁﬁ/ B TR
123 ﬁmﬁaﬁaﬁaﬁawm‘iﬂqﬁawﬁt? %
() | faEl
D) sfrgE
“The sunlight passes lhrough
‘rainbow in front of him.

- This Sun phenomenon is due,|

X g s rs:on; refracncn and reflection of light
D f llght Only

i'(_ﬁ'm the economy _
(B) s
(£)

i picln'.in?' up,

Question notatimnp{i}d %)



126, Who propoundad the theory of the origin of Rajputs from the Nagara Brahmanas 7 ¢

(A} Dr DR Bhandarkar (B)  Vincent Smith ()  GauriShankar
) hmfﬂ Tod ) (E) Ql__l:l‘ﬁ_liﬂn notattempted
m‘mﬁmﬁaﬂwamﬁmmmmﬂﬁm?
AA) AR vERE ® fidfoy © g

0 Imdw ® Fafaws

27, Dhol dance is associated with which area of Ra}asthm ?
) Jaipur B) Jalore (O Pratapgarh
®  Skar (F)  Question notattempted
UE TR W Ay e o R am el
N WER LBy @R © WA
O W F) aRd v

123, Whichof the following is/are example of corrosion ?
{a)  Ironrust ()  Black coating onsilver
{©)  GreenCoating oncopper (d)  Galvanisation of iron
Choose the most appropriate answer from the options given below :
{A)  (@and(d)only ®B) (a)_,)(ﬁ) and (c) only d) only
O (a)only (F) Que.shon not atte
froviahon § WR SEO R/ R /E? L
K R
@ Emsn o) [/ [aE W ST
@ TR E REE @A @ - et
. e i

< fee e frwedl § | WAl I9qE
A FEEG) SO ) 3 () © F@)

o FEE@)

19 FE-FTE R YW ET o
RN L
o w-faw

130 Which of the fallowin A
(A} Vialetlight travelSThstest (among VIBGYOR) in vacuum,

& Alithecolours in VIDBGYOR travel with l‘heé‘;anw speed invacuum,
£) Nonein VIBGYOR travels invaouum. S

@ Redlight travels fastest (among VIBGYOR) in vacuum.

¥ Questonnotattempted £3)

Frfefm A SR R@ e

Ay frafa ¥ VIBGYOR A finll T w vy P A ot @

-*(5} m:‘imm;\u}:ﬂﬁ_ﬂ\ﬁiﬂﬁ?mmmﬂﬂfﬁmﬁﬁl

Q iy § VIBGYOR A 8 =y of O v wfl st

€7 frm gan-wi §en

T

oy RS R VIBGYOR SR CRGE R Sa TR E RIS R Sl f
2R FERE W -
vy ey AR IR




131, svand om' W wam feafafoa § 9 fag ad A em g ? o
o ; E

(GYIC | AB) ©
(o) I L () . arafa W

132, Choose the most appropriate word to mmph_tu the given sentence::

e The compilation of titles of books or articles that have been used by a person for writing:an astick s termg

. P \
(r\) Blmphm\y (B) Blbhography ((:) Biblical
(I'ﬁ Biography (E) - -Question not attempted

133,

Which of the following is an esterification reaction ?
frafafaa # & 9 @ v vedemm fwm

(&) CHyCOOH +NaHCO, - CH,COONa + H,0+CO,
(8)  CH,COOH +NaOH — CH,COONa + H,0

©  CH,COOH +CH,CH,0H HF, CH,Cco0C H, +H,0

) NaOH
D) CHyCOOC,Hy ==—> C,H,OH+ CH,COONa
(E)  Question not attempted / 3T ¥eT ]

134.  Who among the following is the Chnrpersan of ! sl
(A)  Chief Minister
(©)  Chief Justice of High Court
(E)  Questionnotattempted

TEAT T G5 e R/l 4 HF A E?

State Planning Board ?

135, Inwhichga of Paris Paralympics 2024 Mona Agarwal won bronze medal ?

(A m Air Pistol SH1 (B)  R8 Women 10m Air Rifle Prone SH1
©) 4 110m Air Rifle SH1 () R2Women 10m Air Pistol §H1
®) jon not attempted

#fray T HAraerE 2024 % R e AT /I SUETE X HE aww i §
(A)  R3 wfEEn 10m A fRd SHI

i #_'” R8 AfZET 10m W'ﬂmﬁ'msm
(©  R2 AfEE 10m T TEFE SHI

' ! (D)  R2 fed 10m v fores q} “

136. The metal which is not found in the free slate is e
(&)  Silver B ~ Plalmum ©- Tron:y ;
o) Gold () _._“!.._hu.‘stwn notaltempted
1 =1 fored Aen u &'
syt e SR 6 A g kLl _
® _ 2 © . dm
© A : () AW _

28
gva23 - : WEn :




137. 'The horizantal dis s Bt
e e ot rt:::;:“\ll;: n;::“t:tr})l f)lzll‘:r"v of length 18 metres and 8 metres is ‘'m’ metres. If two angles of
(ln m(‘tl'i.“-) 151 p LR L8} lﬂn‘ ﬂf lhl' U"lpr are ('ﬂll'lp!i'lﬂt’llldry !U f'a(h "‘h‘ff, lht’n thL‘ Vah“f nfrm!

18 WA UA 8 iz et & 4wl F e A i oy it oty

9 o A 70w foa 9w, i vE T
& wram & wfya fan o g @ m(m'a{n)'mmvm%
(A) 14

j - 16 L
i 13 © 18

(E)  Question not attempted / SAafd 577
138. ‘v’ w wiu-farsdz dm- B e
(A) T ol

B) THIH (O e
©) T @ sEfEE,

139. ‘Subordinate’, & fog RRES| fedt o 2-
() b ®) oMY (Q——sgamH
O = (E) Srara e

140, f=fafga # Hyaaams gdam & 22w 2-
gﬂ’ Bl ®) T (
T3 (F) aﬂaﬁﬁ g
141. What will come in place of question mark (?) in the sen&s ?

Wﬁm%mﬁuwm(?)%mmw‘

14, 22,22,33,66,7
(A) 100 © 165
o) 96 ortnotattem pted / 3TTARA 993

142. 1n which year was Rajasthan Atomic Po
Ty WH] S |@dR & e ad
pg" 1973 (©) 1980
(D) 1963 Question not attempted / 3A 741

143. Thesimple inter

atsame rate for 2 %15. The rate of interest per annum is ;

fadt wE afy ﬁumtmmmzsoa%ﬁtmﬁnﬁmmmﬁz%mmm
% 315 #ran & wfa ad =R W R
AT 15% @ 20% € 25%
Dy 10% () Qucslion uotuttumptud;‘wﬂﬁﬂam
124, ‘P’ fashm ae B
I

T . Ay A f}’ L ©) .

o =t @ mﬁfmm 3 :
145, HHa=Db™, b ¢ and ¢ = a* then the value of m, n, Iu-mqunltu. ' % 2
i nfaa.abm b= o 3017 c = o BT, W, n, k76 HECEOT A

(& 1 a2, 0

(1)) 0 #)  Question not attempted / 37afta we . -X =

§V23 , 250 | 29




146.

147,

The sum of all the factors of 120 s :

120 % # 7o} a4 e b
(A) 310 B 360 " Q0
e ()  Question not attempted / STARA W

When was the ‘Objective Resolution’ presented by Pt Jawahar Lal Nehru aceepted by the Loy epy
Assembly ?

(A) 9 December, 1946 ® 26 January, 1947 (©) 22 January, 1947
(D) 29 November, 1949 (F) Qua.i:.-.ﬁ_r‘m not attempted
ﬁkﬂaﬂm%mmw'ﬁmm'mﬁfﬁiﬁﬁnmmmwﬂw fesan vy 2

A) 9 v, 1946 ® 26 mmﬁ 1947 © 22 9%mad), 1947

_APY 29 FEwR, 1949 ®)  safa WA

148,

149.

150!

s

The area of a square is 932 + 24y + 16. Find the measure of the side of the Squ

TH 1 HATFA 012 + 24 + 16 %mﬁ;wmmml

(A) 3x+2 ) 3u+4 vt 5
(D) 3x+1 ()  Question not atte

All the opposite faces of a big cube are coloured with

v and Red colours. After that it is cut into
o4 small equal cubes. How many small cubes are there v

Yy one face is coloured 7

TE T T (FA) F W G F wern W w, s N WA 1 foe ren & 1 e s vt 64 Y o
(gan) 4 fasnfom fava w1 0@ ey w2 1 fSr w e @ i §

A) 24 G T

®) 20 uvga__t_igﬁnotmlcmplvd/mﬁ?lm

How many slide layouts of offig > are uvaih{l;l_e‘in new slide dialog box ?

T TGS HAT (dialog) 7 3 F R TS AoT2 3070y 3
A) 14 ' By 9 © 17
m 7 ()  Questionnot attempted / $77wftg wyy

30 _




